Dooooooogl
-g400000000000 —

1 0000
04000000000
e 00000DDD0MifOD cased)
e 00DDDODDDOOD

e 0DIDOOODDOO (whiled)

2 0000
000
p.7l-0000 j

print("O00000000OOO0O \n"
ad = gets.chomp.to_i
heisei = ad - 1988

print(heisei, "\n")

oo 4-2
ob4-100000000000200900000000000000000000 19800000000
gbooobooobooboobooboooobon

00000000000000000000000000000000000000000000000
00000000000000

000000000000 =+ 0000000000000000000000
00000000000000000000000000000 M@
000000000000000000000000000000000000000000000
p.71-p.720 000000



oon

p73-00000O0O jj

oo 4-3
gbogbobobobooboobobooboboobobobobobdlnamed numO00000
gooooobooo

—————————————————————————————————————————— [000D0000D00000]

name = "Ruby"

print(name == "Ruby", "\n")
print (name == "Perl", "\n")
num = 100

print(num == 99, "\n")
print (num == 100, "\n")
print(num < 100, "\n")
print (num <= 100, "\n")
print(num >= 100, "\n")
print (num > 100, "\n")

oo 4-4

0000000000000 0000==0 =00000000000000named numOO00000
oooooooboog

------------------------------------------ [000D0D00000000]

name = "Ruby"

print (name == "Ruby", "\n")
print(name == "Perl", "\n")
print (name != "Ruby", "\n")
print(name != "Perl", "\n")
num = 100

print (num == 100, "\n")
print(num == 99, "\n")
print(num != 100, "\n")
print(num !'= 99, "\n")



ooQ
[p.?él—l]l]l]l]l] ]

name = "OOQO0OOO™"
birth = 1770

if name == "OOOODOO" && birth == 1770
print ("Hello\n")

end

uf 4-6
00450000000 2000 birthOODO 20090000000000000000O0Hello0O000ODO
gboooboboooooboon

oo 4-7
0000000000 00000000 trued false 00000000000 O0O0COCOODOOOOOO

goooooog
x =2
“““““““““““““““““““““““ true
X =2 x > 1
if x> 1
print("x0 100000 \n")
loe false
print("x 0 10 0\n") print ("xlX1XkYKEL ¢En")
end
print ("xIX1ELF¥n”)
€
00 4-8

00470000000 1000x00000000000O0O0O0O0DDOOOODOOOODOO

0 ODOOOObOOoOoooboonono
1 00000O0bo0oo0ooobooo
2 ODO0O0oOO0bOOoOoooboooo

"
]

o]
]

»
]



oo 4-9
obocobOoboooooboboooooboboooobooboboobooooboooooobOboooooooDn
gooooobooooobobooooobooobooogoo

true
false
print ( )
print( )
€

0ooOo
[p.75— if O ]

oo 4-10
gbboobOobooooobooooboooooobobooooboobooboOoboooogo

a = "Ruby"
b = "Perl" true
if a ==
false

print("al pO000O\n")
else |print( )

print("al b0 00000 \n")
end ‘print( ) ‘

S




oo 4-11
aldbO0D0O0OO0OO00ODOOOODOOOOODOOODOOOODOOOOODOOOODOOOODO

a =10
b =20 true
if b > a
print("b 0 a00000\n") false
else |print( )
print("p0J a00000O00OOa0O
oodd\n") -
4 print( ) ‘
en
_________________________________ ¢
00 4-12

aldbO00O0OO0O00ODOOOODOOOOODOOODOOOODOOOODOOOOODOOOODODOD

a =10
b =10
if b > a

print("b0 a0 0000 \n")

elsif b == a
print("b 0 a0 000 \n")
else false ‘print( )
print("b 0 aO00O000O0O\n"
end |print( ) ‘
<€
<€
oo 4-13

04 1200000000000000 2000000000000 00000DO0O0O0DOOODOODOAO
gooogd

O000) a=100 bp=100000 getsO0OOOO0ODODOOO



oono
p.77- case O ]

oo 4-14
goboooboobboooboobbboOobsibbd menu = gets.chomp UO0OOOO0OOOO0OOO
goooogoooogboooogogoon

print("1 O0OOO0O\n"

print("2 OOO0O\n")

print ("3 Hi!\n")

print("1,2,3 DO0OOOOO0OOCODOOOOODOON\n"

menu = gets.chomp.to_i

if menu == 1
print("O000OO\n")
elsif menu ==
print("O 000 \n")
elsif menu ==
print ("Hi!\n")
else
print("1,2,300000000000\n")

end

ooboobooobooobooobooooobooobD e d0bO0ODOOODODOOODOODOOODOODO
goo0oodbosb0O0 menu = gets.chomp UODO0O0O0OO0D0O0OO0OOD0OOO0ODOOODOOODO
googoo

print("1 O0OOOO\n")

print("2 OOO0O\n")

print ("3 Hi!\n")

print("1,2,3 00000000 OOOOOCODOON\n"

menu = gets.chomp.to_i

case menu
when 1
print("OO0 0O \n")
when 2
print("000O0\n")
when 3
print ("Hi!\n")
else
print("1,2,300000000000\n"

end



oo 4-16
000000000000 /) 0000000000000 0000o00000U0o0O0oUoooUOoo
goooboooobooboog

print("O000000O000OCOO00ON\n"

enzan = gets.chomp

case enzan

when "+"

print("x +y =", x+y, "\n") OOOOOOOOOO
3 oo

ooo

p-92- while O J
0d 4-17

HelloOOODOOOODOOOOODOODOOOODOOOODOOOOODOOOODODOD

i=20

i=0
while i1 < 3

print ("Hello\n") false

i=1i+1
end
_________________________________ true

print (“Hello¥n")
i=4i+1
|

!



oon

p.396- 0000

oo 4-18
idogbooooooooboboooooboooboog

print(i, "\n")
i=1i+1
print(i, "\n")
i=1+1
print(i, "\n")
i=1+1
print(i, "\n")

oo 4-19
sum 00000000000 000000000000

print(sum, "\n")
sum = sum + 2
print(sum, "\n")
sum = sum + 2
print (sum, "\n")
sum = sum + 2

print(sum, "\n")

oo 4-20
HelloOOODOOOOODOOOOODODOOOiIiODOOOODOOOODOOOODOOOOODOO

while i < 3
print("A: i =", i, "\n")
print ("Hello\n")
i=1i+1
print("B: i = ", i, "\n")
end



oo 4-21

OO0 4200000000 while i < 3 OOOO while 1 <= 3

gboooboooboobooon

0o 4-22
sumO0 000000000000 000000004

while sum < 6
print(sum, "\n")
sum = sum + 2

end

oo 4-23

ob4-2200000
0369 12 15 18 21 24 27 30
gbooobooobooboobooo

oo 4-24

0000000000000 Hello

break 00 OO00O0ODOOOOIO jO0OO000ODO0O0O0DOOOOO0OODODOOOOODODOO j ==

gboooobooobooboobooboobooo

while i < 10
print("i = n, i, u\nn)
i=1i+1

end

j=20
while j < 10
print("j = u’ j, u\nn)
if j ==
break

end



oo 4-25
obooobOoboooooboboooobobooobOoboooobooobooo

a = [ll[lll, |I[|l|’ IIDII, Il|:||l’ IIDII’ IIDII’ l|DII] false
i=0
while i < 3
true

print(ali], "\n")

i=1i+1 | |
end ‘ I |

|
00 4-26

gbooobo0booboob@mMibweek_ e 0000 0O0OO0OOOOODOOODOOODOM

Week_j = [IIDII, IIDII’ IIDII’ |||:|||’ IIDII’ llDll’ IIDII:I

week_e = Array.new(7,"")

while 1 < 7
print(week_j[i], "OO0000OO0O0DOOCOOOO (O: OO0 Sunday O™
week_e[i] = gets.chomp
i=1i+1

end

print ("------- \n")
i=0
while i < 7
print(week_j[il, " : ", week_el[i], "\n")

i=1+1

10



oo 4-27
sO0000bO0b00oO0obO0oboooboobOooOoooboOobooooOoboOoonn

# 0005000 kaezuOOODODOOOOOO o
kazu = Array.new( 7?77?7, 7?77 )
i=0
goukei = 77?0 00# OD00O0O0O0O0O0O0ODODODODO goukei OOOO
while i < 777
print("OO0OOCOOOOOOOOM
kazu[i] = 777
goukei = 777
i= 777

end

oboooooobOobobooooooobooboboboooocoooboOob. Oooooooobooon
ooooboobooooboboooog

oooood

00000AODDOOOO0BOOO0OO0ODOOOOOOODO
————— R

j=20
while i < 3
while j < 3
print("i =", i, " j =", j, "\o")
j=3+1

end

while i < 3
j=0
while j < 3
print("i =", i, " j =", j, "\n")
j=3+1

end

11



oo 4-29
ooooooooOoOoooooo0oooooooAMetDO0OO00000DOOO0000ODOOO0OOO0oD
goooooo

# 000000000000 00000fruitd g0

fruit = 777

# JOoo0ooobooobooooooboo

sum = 7?77

# 000000000000 OoOooOooao@oon)
# J000DD0D00000frit 000000 boooooooboboooogo
while i < 3

print("OD00000COO0ODOOODOO:")

# 00000000 keyO OO

key = 777

print("OO000O0OCOOODOOOOO:")

# J000D00O00value0 OO ooooooong

value= 777

# 0000fruit 000 (OO0 keyOOOODODOOOO valueeODOOOOODOO)
777

O# 000000OO00OO0ODOOOO
i= 7?77

end

# 0000£frit00000000000000000
fruit.each{|key, valuel|
print(key, "O", value, "O\n")

sum = 777

# 0000000
print("O0O:", 0777, "O\n"))

12



oo 4-30

gbobooboooobooboobooboboooobooboooon
100000b0b0o0o0ooob0ob 4000000000000 0O0O0O0DOOOOOODOODOOOO

ooooboooon
40000000000while0 0000000000000 O0D00O0D0 whileODOODOOODOOODO

gooo

top_word = word[0]

if top_word > word[1]
top_word = word[1]

end

if top_word > word[2]
top_word = word[2]

end

print(top_word, "\n")

oo 4-31
gbooobOobosbOobobooboboooobobooobooboooobOobooooOoo

# J00o0o0ooooboooboooboooboo

# 500000000000

# J0000O00Oo0ooooboooo

# 0000000000000

# 5000000000000000O00DOO00O0O0

# 000000 obOOoobooo

oo 4-32
gbooobOobosboboboobobooboobobooobooboooobobooooOoo
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